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1. In how much time a sum of Rs. 500 becomes Rs.
625 at the rate of 5% per annum simple interest?

(a) `5

(b) `7

(c) `3

(d) `8



2. A sum at SI at 10% per annum amounts to Rs.
7500 after 5 years. Find the sum.

(a) `5500

(b) `6500

(c) `6000

(d) `5000



3. A sum at SI at 20% per annum amounts to Rs.
6000 after 10 years. Find the sum.

(a) `2000

(b) `3500

(c) `4200

(d) `3700



4. The simple interest on a sum of money is 
1

9
 of the

pricipal and the number of years is equal to rate
percent per annum. Find the rate percent:

1

9

(a) 
1
3
3
%

(b) 
2
3
3
%

(c) 
1
2
3
%

(d) 
5
2
5
%



5. The simple interest on a sum of money is 
1

16
 of the

principal and the number of years is equal to rate
per cent per annum. Find the rate percent:

1

16

(a) 3.2%

(b) 2.1%

(c) 1.8%

(d) 2.5%



6. A sum of money at simple interest becomes 3 times

of itself in 5 years.

(1) In how much time it will become 27 times of it

self?

(2) Find the Interest rate also.

(a) 62 yrs ; 35%

(b) 63 yrs ; 27%

(c) 65 yrs ; 40%

(d) 62 yrs ; 40%



7. A sum of money at simple interest becomes 3 times

of itself in 8 years.

(1) how many time it will become in 20 years.

(2) Find the Interest rate also.

(a) 6 times ; 25%

(b) 7 times ; 20%

(c) 6 time ; 20%

(d) 5 times ; 25%



8. At a certain rate of simple interest Rs. 1200
amounted to Rs. 920 in 4 years. If the rate of interest
increased by 1%, what will be the amount after 4
years?

(a) `1650

(b)  `1665

(c)  `1695

(d)  `1680



9. At a certain rate of simple interest Rs. 156725
amounted to Rs. 273525 in 4 years. If the rate of
interest increased by 1%, then the amount will be
(in Rs.)?

(a) `279685

(b)  `275585

(c)  `279199

(d)  `279794



10. A sum of money at simple interest amounts to
Rs. 550 in 3 years while in 5 years it amounts to
Rs. 750. Find the sum and the rate of interest.

(a) `200; 50% p.a.

(b)  `300; 40% p.a.

(c)  `250; 40% p.a.

(d)  `350; 50% p.a.



11. A sum of Rs. 950 is lent out in two parts in such

a way that the interest on one part at 6% for 5

years and second at 4% for 5 years is equal to Rs.

200. Find the two sums.

(a) `150; `950

(b)  `100; `850

(c) `250; `650

(d)  `150; `850



12. Vidhan soni borrowed a total amount of Rs.

30000. A part of it was lent on SI @ 12% per annum

and remaining on I @ 10% p.a. If at the end of 2nd

year, he paid in all Rs. 36480 to settle the loan

amount, what was the amount borrowed at 12%

per annum?

(a) `12000

(b)  `14000

(c) `10000

(d)  `13000



13. A sum of Rs. 2600 is lent out in two parts in such

a way that the interest on one part at 10% for 5

years is equal to that on another part at 9% for 6

years. Find the two sums.

(a) `1520 : `1320

(b) `1050 : `1150

(c) `1350 : `1250

(d)  `1400 : `1300



14. Vanshika invests money is 3 sift schemes for 6
years, 10 years and 12 years @ 10%, 12% and 15%
SI respectively. At the completin of each scheme he
gets the same interest find the ratio of his
investment.

(a) 5:3:2

(b) 6:2:3
(c) 6:3:2

(d) 5:2:3



15. A sum of Rs. 1331 is left by will by a father to be
divided between two sons of 13 and 8 years of age,
so that when they attain maturity at 18, the amount
received by First son at 10% simple interest and by
socond at 8% simple interest. Find the sum allotted
to each son.

(a) `126 : `605

(b) `690 : `620
(c) `740 : `624

(d) `710 : `590



16. The rate of SI on a certain sum of money is 4%
per annum for 1st two years, 6% per annum for
next 4 years and 8% per cnnum for the period
beyond 6 years. If the simple interest earned by a
sum is Rs. 2240 in 9 years, find the sum.

(a) `4000

(b) `3980

(c) `4200

(d) `3850



17. The difference between the simple interest received
from two different sources on Rs. 2000 for 4 years
is Rs. 160. The difference between their rates of
interest is:

(a) 1.5%

(b) 0.7%

(c) 2.2%

(d) 2%



18. The difference between the simple interest
received from two different sources on Rs. 4000 for
6 years is Rs. 120. The difference between their rates
of interest is:

(a) 0.3%

(b) .7%

(c) .5%

(d) .15%



Compound Interest



19. What will be the compound interest when Rs.
1000 is deposited By Rahul Shulkla in a bank of
Kolhapur at 10% per annum compounded annually
for 2 years?

(A) 210

(B) 190

(C) 220

(D) 180



20. What will be the compound interest when Rs.

5120 is deposited in a bank at 
1
6 %
4

 per annum

compounded annually for 2 years?

1
6 %
4

(A) 620

(B) 700

(C) 660

(D) 680



21. What will be the compound interest when Rs.

3600 is deposited in a bank at 
2

16 %
3

 per annum

compounded annually for 2 years?

2
16 %
3

(A) `1500 (B) `1250

(C) `1300 (D) `1400



22. What will be the compound interest when Rs.

4900 is deposited in a bank at 
2

14 %
7

 per annum

compounded annually for 2 years?

2
14 %
7

(A) `1600

(B) `1500

(C) `1400

(D) `1450



23. The difference between the compound interest

(compounded annually) and the simple interest on

a sum of Rs. 5000 at a certain rate of interest for 2

years is Rs. 72. the rate of interest per annum is:

(A) 12%

(B) 15%

(C) 10%

(D) 14%



24. The difference between the CI and  SI on Rs. 10000

for 2 years is Rs. 25. the rate of interest per annum

is:

(A) 5%

(B) 7%

(C) 10%

(D) 12%



25. The difference between the CI and  SI on Rs. 20000

for 2 years is Rs. 50. the rate of interest per annum

is:

(A) 10%

(B) 5%

(C) 15%

(D) 21%



26. If the amount is 2.25 time of the sum after 2

years at compound interest (compounded annually)

the rate of interest per annum is:

(A) 40%

(B) 60%

(C) 50%

(D) 65%



27. If the amount is 1.44 time of the sum after 2
years at compound interest (compounded annually)
the rate of interest per annum is:

(A) 15%

(B) 25%

(C) 20%

(D) 30%



28. At what percent per annum will Rs. 2304 amounts
to Rs. 2500 in 2 years if the interest is compounde
annually?

(A) 
1
3
2
%

(B) 
2
3
5
%

(C) 
1
4
6
%

(D) 
3
2
5
%



29. A sum of money at compound interest 9 times

iteself in 5 year It will become 27 time of itself in?

C.I.

(A) 
15

2
 yrs. (B) 

13

5
yrs.

(C) 13 yrs. (D) 15 yrs.



30. A sum of money at C.I. 2 time itself in 7 year It

will become 32 time of itself in?

C.I.

(A) 25 yrs.

(B) 20 yrs.

(C) 28yrs.

(D) 35 yrs.



31. What will be the compound interest when Rs.

10000 is deposited in a bank at 10% per annum

compounded annually for 3 years?

(A) `3310

(B) `3500

(C) `3120

(D) `3200



32. What will be the compound interest when Rs.

3456 is deposited in a bank at 
1
8 %
3

 per annum

compounded annually for 3 years?

1
8 %
3

(A) `900 (B) `968

(C) `945 (D) `938



33. What will be the compound interest when Rs.

5120 is deposited in a bank at 
1

12 %
2

 per annum

compounded annually for 3 years?

1
12 %
2

(A) `2200

(B) `2170

(C) `2110

(D) `2080



34. On what sum does the difference between the

compound interest and the simple interest for 3

years at 10% is Rs. 31?

(A) `990

(B) `1050

(C) `1000

(D) `1120



35. If the difference between the compound interest

and simple interest on a sum of 10% rate of interest

per annum for three year is Rs. 93, then the sum

is:

(A) `2500

(B) `2800

(C) `2400

(D) `3000



36. The ratio of difference between CI and SI for 3

years to the difference of CI and SI for 2 years is 8:

25. Find rate of interest.

CI SI CI SI 

(A) 12%

(B) 13.5%

(C) 13.7%

(D) 12.5%



37. What will be the compound interest when Rs.

21600 is deposited in a bank at 
2

16
3
% per annum

compounded annually for 2 years 73 days?

2
16
3

(A) `8780

(B) `8680

(C) `9650

(D) `9900



38. The difference between simple interest and

compund interest of a certain sum of money at 10%

per annum for 
1
1
2
 year is Rs. 244. Then the sum is:

1
1
2

(A) `32000

(B) `35000

(C) `28000

(D) `30000



39. In how many ways Rs. 2708 is divided into the

two parts A & B so that after 8 years part of A will

be equal to the part of B after 10 years, whereas

rate of CI per annum is 8%?

A B A

B CI

(A) A= `1500; B=`1300

(B) A= `1450; B=`1258

(C) A= `1458; B=`1250

(D) A= `1358; B=`1450



40. In how many ways Rs. 1105 is divided into the

two parts A & B so that after 5 years part of A will

be equal to the part of B after 7 years, whereas rate

of CI per annum is 10%?

A B A

B CI

(A) A= `600; B=`520

(B) A= `600; B=`505

(C) A= `605; B=`500

(D) A= `585; B=`450


